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SgI|=4dH
=EXE
MEII=2Y Ctel &)
- - _ =]
SN EH . (3H) - HEAY - B %Eﬁ HDS2
S&SIHBUSHH 38,463 40,491 N2,028
101 @121l 16,463 14,831 1,632
04 J|I2ZtH2E2XNEE S 16,463 14,831 1,632
Ou =4 ¥ fA4XZY| 1,000
OsdENsnNHMHSY JI2tH el 48] 15,463
=3 68,7203 *1H %185 12,714
Ra3ELY 68,720& 1Y x40 2,749
201 LEt2 Y| 10,800 12,700 A 1,900
01 A2 22| bl 2,000 3,100 A 1,100
OsdElNsn=x4H 2,000
02 =294l 8,800 9,600 A 800
Osd&EltsusdgH Ql(zHel Arall, SHIH
) 2,400,000& x 14 2,400
Os&Eltsusdd gl & Xl
5,000, 0002 14! 5,000
Os4 22 S UH (2 R)
1,400& *1,0002! E 1,400
206 M = Hl 3,000 5,000 A 2,000
01 & bl 3,000 5,000 A 2,000
OFgIEE Agus Mg 7Y
100, 000& *30H 13| 3,000
207 AT OH £ h| 4,400 5,000 A 600
03 A&7t 4,400 5,000 A 600
ONMELE L [t S AEHR
400,000& *63] 2,400
OAME =& M 1,000,000& x2& 2,000
301 deEtE X = 3,800 2,960 840
09 HALAHIXI &= 1,800 960 840
OFgIDaL d&uNs F&AL XA
30,000& *30H 23] 1,800
12 JIEtE &2 2,000 2,000 0
OFgIDaLt s & 200,000& =103l 2,000
NANE sEME2H3 106,600 174,400 67,800
= 31,370
Al 75,230
201 LEt2 A Y| 45,600 72,400 A 26,800
& 9,120
Al 36,480
01 At 22l Yl 45,600 72,400 N 26,800
Od=sgeol 38X 3 60,000& x760H 45,600
& 9,120
Al 36,480




fAM: sgIlsdH
RNEH: ==X=
Gel: gEIlEey (9l )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 2Iztol ™ 5,000 25,000 A 20,000
< 1,250
Al 3,750
02 PIZHEHAHE L 5,000 25,000 A 20,000
ONHOI & sorold JEsAl
5,000,000 =14l 5,000
< 1,250
Al 3,750
402 2I2H X201 M 56,000 72,000 216,000
< 21,000
Al 35,000
02 QI EALEZ (OIS ) 56,000 72,000 A 16,000
OSZMERZ BISL T
30,000,000& *17H 2= *80% 24,000
< 9,000
Al 15,000
Os&na 28 Iz MY
40,000,000& *17H 2 *80% 32,000
< 12,000
Al 20,000
sENASSAHG XA (MEH 40,000 40,000 0
< 25,000
Al 15,000
402 2I2H X201 M 40,000 40,000 0
< 25,000
Al 15,000
02 QI E2AIS EZ (OIS ) 40,000 40,000 0
OSAE JISALE BSY X2
0,000,000 = 1JH 2 *80% 40,000
< 25,000
Al 15,000
NGRS EY (MED =) (HE) 165,000 66,000 99,000
< 82,500
Al 82,500
201 £B-2dH| 77,600 15,000 62,600
< 38,800
Al 38,800
01 At 22l 54,600 10,000 44,600
OXNSUEY =48 Jts EZ3 XA (S8 =
T M) 10,000, 000& * 14 10,000
= 5,000
Al 5,000
ONHUEY SAE IR HES N (542
s usHE &4 2wd) 3,000,000 14! 3,000
< 1,500
Al 1,500
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fAM: sgIlsdH
M =E2FE
Chel: MEh)|=2d (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
== 2,400
Al 2,400
12 JIEBHE4 S 3,600 0 3,600
SX THAHOY UL AHBADE BALY
300,000& x123] 3,600
< 1,800
Al 1,800
307 glz2tol & 30,000 16,000 14,000
< 15,000
Al 15,000
02 It M AMHEE 30,000 16,000 14,000
OSZE014 SN BE7 X2
15,000, 000& 14! 15,000
< 7,500
Al 7,500
Os=sgeolol etMils =4
15,000,000 =104 2 15,000
= 7,500
Al 7,500
402 RI2FX=201 M 35,000 0 35,000
< 17,500
Al 17,500
02 QI EALEZ (OIS ) 35,000 0 35,000
Os=geolol etMbls =4
35,000,000 =104 2 35,000
< 17,500
Al 17,500
SEHEASTAAIY (M 50,000 50,000 0
< 25,000
Al 25,000
307 glz2tol & 5,000 5,000 0
< 2,500
Al 2,500
02 It M AHE X 5,000 5,000 0
Osz024 2NAH AlY
5,000,000& =104 2 5,000
< 2,500
Al 2,500
402 QI2H X201 M 45,000 45,000 0
< 22,500
Al 22,500
02 QIZEHEAS EZ (01X THS) 45,000 45,000 0
Os&E0z2d sXadA AldY
45,000,000 =10 & 45,000
= 22,500
Al 22,500
AIEBIAY (MEIIE) 110,000 60,000 50,000




AN sg€II=4dH
MY =ENE
Sl MEIERY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 55,000
Al 55,000
402 RI2EX=20| A 110,000 60,000 50,000
= 55,000
Al 55,000
02 QI EAISEZ (OIS ) 110,000 60,000 50,000
OEYE AL Al 2B HUE MSB3a MY
60,000,000 104 2 60,000
= 30,000
Al 30,000
ONEFZE HIoIH2lE HLIE AlY
50,000,000 =104 2 50,000
= 25,000
Al 25,000
SIS AL HAE U S (M &) 100,000 0 100,000
< 50,000
Al 50,000
402 RI2FX =201 M 100,000 0 100,000
< 50,000
Al 50,000
02 QI EAILEZ (OIS ) 100,000 0 100,000
OsZAINSAMSHFALFHIINA
50,000,000 *2H 2~ 100,000
< 50,000
Al 50,000
SHEBAAN (ME) 4,500 0 4,500
= 2,250
Al 2,250
201 ¢et24] 4,500 0 4,500
= 2,250
Al 2,250
03 A2 Z Hl 4,500 0 4,500
Ottsr 2l 88us 4,500,000& » 14! 4,500
= 2,250
Al 2,250
sJIAH2Z 2,152,290 1,667,813 484,477
= 238,000
= 53,100
Al 1,861,190
SO H ALY 1,461,704 1,492,744 A 31,040
101 124 dl 362,084 347,284 14,800
03 RIAHAZZ2TE = 1,500 0 1,500
O3FRAZZX LISsH E R4S
300,000& x5H 1,500
4 DIt Z2XREES 360,584 347,284 13,300
Olu=sd & 24X ZH 300,000& x12H 3,600
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AN sg€II=4dH
M sEME
@ sIAH2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsJ1H A2 JI2tH (J1s)el 2l 199,889
2= 87,4403 x6H 251 131,685
sesgds¥ 87,4403 x6H x52 27,282
e =] 87,4403 1 .58 x6H x52 40,922
OsJI LUWASSY JI2bH (Leh) oA 157,095
== 68,7203 x6H x251 103,493
FesdsE 68,7203 x6H x52 21,441
e ] 68,7203 1. 51 6 x52 32,161
201 et 149,120 108,760 40,360
01 AP 2teltl 28,200 25,500 2,700
OsIIH LA AFR22ldl
6,000,000 *4J4 & 24,000
OXE I=d R&X =l 700,000& x6H 4,200
02 =224l 120,920 83,260 37,660
OLU=sIAH Bz 30,000
OUUAS A o S 2| 900,000& =44 2~ 3,600
OYUAIS A MIIAIBE 1,700,000& »12& 20,400
OsJ1H XH&(1U), ZHI(50) B8 ¢ |
2 el 32,000
OgU=2IH 8% 7L (ER)
1,400 *1,2002] & *4J4 & 6,720
OLUsIH 87 7L (LK)
1,600& *x5002| & *44 & 3,200
Ol sLJIH &1 =2 1,000,000& *253] 25,000
206 T2 HI 185,500 180,000 5,500
01 =8l 185,500 180,000 5,500
OthsJNH=x=e B35 ¢
150,000& *800CH 1.53] 180,000
O AIY 2837 ¢ 275,000 203 5,500
405 RHoHE S HI 765,000 856,700 A 91,700
01 AL EZFH S 765,000 856,700 A 91,700
OU=as 3 & DF =J1H UH 2 600,000
QML SIH 228 det
1,125,000 *80H 90,000
OAdUAIH A HHIE 2IZE 2 (0]%)
15,000,000 =1 CH 15,000
O18 UhsSAMCel 2SS (2K, 2d)
30,000,000 *2CH 60,000
S| HAIS A & 5 EHI TR X & 95,000 89,769 5,231
< 28,500
Al 66,500
405 TtHabF S| 95,000 89,769 5,231
< 28,500
Al 66,500
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AN sg€II=4dH
MY =ENE
Sel: soNey (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 95,000 89,769 5,231
OsJIA ==&4 AM+2 95,000,000& 14! 95,000
= 28,500
Al 66,500
SIAHMEI A2 St 59,986 18,300 41,686
101 @14 dl 20,986 15,300 5,686
04 JI2ZtHZ22HEE =+ 20,986 15,300 5,686
0120 SA sZIIAH ==+l 224
87,4403 x 120 x2H 20,986
206 M= Hl 6,000 3,000 3,000
01 M2 4l 6,000 3,000 3,000
O120 SAM =32 sIIH 2357
10,0002 *300& 3,000
0120 A &322 sJIH 277
300,000& 103 3,000
405 RHoHE S HI 33,000 0 33,000
01 AL EZFH S 33,000 0 33,000
O1208 M =22l XtE +Y
30,000,000 = 1CH 30,000
O120S8 A =22l HHIFY
1,000, 000& 33 3,000
s HEE ALY 50,000 50,000 0
301 LEHZ 50,000 50,000 0
12JEEd=S 50,000 50,000 0
OsJIAnE (A8 ALIHHAFE LUK S)
ot 24 400, 0003 «250H *50% 50,000
S ¢t s X 20,000 17,000 3,000
= 10,000
Al 10,000
201 £B-2d| 1,500 1,000 500
=2 750
Al 750
01 At 22l 1,500 1,000 500
OsJIH ¢tM0lE s 2F  100,000& 155 1,500
= 750
Al 750
202 044l 1,500 1,000 500
= 750
Al 750
01 = LH &4 1l 1,500 1,000 500
OsJIAH etd0lE W= OHl  100,000& ~15H 1,500
= 750
Al 750
206 M= Hl 10,000 5,500 4,500




sgJlsdH
=EXE
sIAH2SE )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 5,000
Al 5,000
01 =8l 10,000 5,500 4,500
OsJIH 8018 WS W27
200,000& 503 10,000
= 5,000
Al 5,000
301 LPEXZ 7,000 9,500 A 2,500
2 3,500
Al 3,500
09 HALAHIX RS 5,500 8,500 A 3,000
OsJ13 &&0ls u=s HItXE
20,000 x275H 5,500
= 2,750
Al 2,750
12 JIEtEA 3 1,500 1,000 500
OsJIH ¢&H0IE WS ZA=E
150,000& *103] 1,500
= 750
Al 750
Hezstg=sIH 2R 140,000 0 140,000
= 70,000
= 21,000
Al 49,000
405 RHoHF S HI 140,000 0 140,000
= 70,000
< 21,000
Al 49,000
01 AL EZFH S 140,000 0 140,000
Oy &ste sII1H+ 140,000, 000& * 14 140,000
= 70,000
< 21,000
Al 49,000
2 sYIIH N 116,000 0 116,000
= 58,000
Al 58,000
405 TtHabF S| 116,000 0 116,000
= 58,000
Al 58,000
01 XA = ZH St 116,000 0 116,000
OLDF00IA D] 2 16,000, 0002 = 1CH 16,000
= 8,000
Al 8,000
OZ+=&3Hel 72 100,000, 000 1CH 100,000
= 50,000
Al 50,000
AR L2001 A &t 200,000 0 200,000
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AN sg€II=4dH
MY =ENE
SR RPIPTES- CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 100,000
Al 100,000
405 XHoHF S HI 200,000 0 200,000
= 100,000
Al 100,000
01 AL EZFH S 200,000 0 200,000
OF &R g2 J1AH 7 200,000
= 100,000
Al 100,000
ST NEEAXNI (SLIAH)N(BX) 9,600 0 9,600
< 3,600
Al 6,000
301 LerEAF 9,600 0 9,600
< 3,600
Al 6,000
12JIE243 9,600 0 9,600
Os98 C2 HRNASY |4 X
1,500,000 *8H *80% 9,600
< 3,600
Al 6,000
SEXNA 7,147,128 7,739,961 A 592,833
= 1,449,940
s 210,000
< 206,990
Al 5,280,198
HEEZ 2,477,859 2,860,553 A 382,694
= 57,880
< 7,590
Al 2,412,389
DS MA 40,748 40,616 132
101 124 dl 8,248 8,016 232
04 JI2ZtHZ22HEE =+ 8,248 8,016 232
OH 229 HlW AIYEE 22 A2 (M) 8,248
2= 68,7203 x3H x33 6,804
A= Ry 68,720 x3F »7L 1,444
201 Let24EH]| 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
OoAgads ws @ WM MZE  500,000& 45 2,000
207 & OH &l 27,100 27,100 0
03 Al & 1HI 27,100 27,100 0
OH Z3E HlW AgH Mg 24
450,000& * 105 «30H & 13,500
Ol golls 28 23 13 XMl ASAE
400,000& *2ha*17H 2 13,600
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SN SYISUE
M HEHEXE
el X2 E CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,000
Al 4,000
OBEE U BZ 24AL L HRPY
200,000& =30 6,000
= 3,000
Al 3,000
MANEZ HHIHKXNS 5,930 6,015 N85
= 5,930
206 M = Hl 5,930 6,015 N85
= 5,930
01 XHZ H| 5,930 6,015 N85
OEYAN L d24 HEPY
59,300&«10& 103l 5,930
= 5,930
SHZYols 22T 29 6,300 6,300 0
2 3,150
Al 3,150
201 et d| 2,050 0 2,050
= 1,025
Al 1,025
01 AP 22| H| 2,050 0 2,050
OHHSZET SNSRI 7L
102, 500& 200 & 2,050
= 1,025
Al 1,025
202 o4 | 2,000 0 2,000
= 1,000
Al 1,000
01 2Ll 2,000 0 2,000
OHolE RET MSEA Y HASZAIOY
20,000& x5 20 2,000
= 1,000
Al 1,000
206 T 24 2,250 6,300 A4,050
= 1,125
Al 1,125
01 =4l 2,250 6,300 A4 ,050
OHslE REE 2% ME 7Y
150, 000& 1500 & 2,250
= 1,125
Al 1,125
SsHS=Yals A &9 X 18,000 18,001 A
= 9,000
Al 9,000
201 2Bt | 1,800 0 1,800
= 900
Al 900
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2N
X ZH -
L= B

el

A -

Off &t 24

=

i
2m

H

Al

1,800

1,800

900
900

206 M= Hl

6,200

3,100
3,100

1,768

4,432

01 M= dl

O8dizs olZE Jle M= 620,000& 105

H

Al

6,200
6,200

3,100
3,100

1,768

4,432

405 Xt&tE S HI

H

Al

10,000

5,000
5,000

10,000

o Y
o [0

00, 000& »2CH

i

= H

10,000

10,000

5,000
5,000

10,000

= N H

50,601
25,300

7,590
17,711

50,601

= n W

16,493
8,246
2,474
5,773

16,493

68,7203 x1H +2002

EEESs 68,7202 * 1% +40L

= MW

= W

16,493
16,493

13,744
6,872
2,062
4,810
2,749
1,374

412
963

16,493

207 &1 OH & H|

= N H

14,008
7,004
2,101
4,903

14,008

03 A&l & 224l

ElH 2= FSEANE

30,000& 4508

=z M H

14,008

13,500
6,750
2,025
4,725

14,008
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AN sg€II=4dH
PSR B PSON R
el X2 E CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EHIEA HEP LY 508
2 254
< 76
Al 178
401 AIEHI L 2 CHYI 10,000 0 10,000
= 5,000
< 1,500
Al 3,500
01 A& HI 10,000 0 10,000
OJl=2r 2484 &X 10,000,000& *1JH £ 10,000
= 5,000
< 1,500
Al 3,500
405 XHoHF S HI 10,100 0 10,100
= 5,050
< 1,515
Al 3,535
01 AL EZFH S 10,100 0 10,100
OCEHI®E=sE s3I 24 5,050,000& »2CH 10,100
= 5,050
< 1,515
Al 3,535
A== 974,320 1,162,151 A 187,831
= 256,560
= 139,400
Al 578,360
AuaII=23 134,800 266,920 A 132,120
207 A O] 2,000 0 2,000
03 A& &2l 2,000 0 2,000
OD4=0t 457 L B2y 29
200,000& 103 2,000
301 LEXZ 7,800 1,920 5,880
09 HALAHIX RS 7,800 1,920 5,880
OIbER =&=sg2 qRu=s & 4T N&
8,000& x150H 23| 2,400
OMHS HN=H WX DS
20,000& x150H 3,000
O==s0t EERE Xl s F4L N2
8,000& *50H *6 2 2,400
402 RI2EX=20l A 125,000 265,000 A 140,000
01 2I2EHEAS B (KM ) 125,000 265,000 A 140,000
On2I| LELIR ML WIIX JIsES
130,000, 000 *1& X x50% 65,000
OsY SIx=2 |4 Zsel 222
60,000, 000& » 1+ Xl «50% 30,000

_27_
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3N J¥NE

el A2y (el @2)
_ d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=s0t EZRE US4 AY
60,000, 000& » 1+ Xl «50% 30,000
AQDLEE=sXNE HARS 8,800 8,000 800
201 £B-2dH| 6,800 6,000 800
01 At 22l 2,000 0 2,000
OANE=sY HAEHE s 29
200,000& 108 2,000
02 =224l 4,800 6,000 A 1,200
OANE=sY HAEHE w=sd U XU (A
2l MarEy 22 e AIER 8)
400,000& x12J4 & 4,800
405 RH&HE S HI 2,000 2,000 0
01 AL ESHSHI 2,000 2,000 0
OAGESY HAHME s doEH Y
1,000, 000& 23 2,000
200l ¥ L35 28,560 25,031 3,529
101 1244 Hl 7,560 14,831 AT, 271
04 D122 2REE S 7,560 14,831 AT, 271
OJI=dsie ¢’ A5%E =4 oAl
68,720 x 1 20 1,375
OALS XA 212 68,720 x1H 902 6,185
201 et 6,000 4,200 1,800
01 At 22l 1,000 0 1,000
OANE224 29 ANSS8E 7Y
100,000& 103 1,000
02 2324gHl 5,000 4,200 800
OMZ2a OI2E ABE RE7Y(IR)
1,000& *5,0002| H 5,000
206 M= Hl 15,000 3,000 12,000
01 MHZ 4l 15,000 3,000 12,000
OAZ224 JI2HHS LR ASE X4
M2 15,000
8= #g 25,000 *400= 10,000
s - 2=XM 300,000& *10& 3,000
A= 200,000& 108 2,000
SHASEHSHE LA 75,400 61,000 14,400
= 37,700
Al 37,700
402 RI2HXt20l 75,400 61,000 14,400
= 37,700
Al 37,700
02 QIZEX 2 AL E X (0| T E) 75,400 61,000 14,400
O=s%2 daols g Al 75,400,000& = 1EH X 75,400
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ool BoNESY EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 37,700
Al 37,700
MIl=sBa A () 360,000 240,000 120,000
= 180,000
Al 180,000
206 M= Hl 1,000 0 1,000
2 500
Al 500
01 M= 4l 1,000 0 1,000
OAHldSd 2285 2Xxd AE USHE
-+ 200,000& x5 1,000
= 500
Al 500
301 EEMZ 5,000 0 5,000
= 2,500
Al 2,500
09 HALAHIX A S 4,000 0 4,000
OAHldSd 28T @AEd AE FAKL
A& 800,000& x53] 4,000
= 2,000
Al 2,000
12JE2 4= 1,000 0 1,000
OAHIdSE 2285 2Xxd Alg ZA=E
250,000 *43| 1,000
= 500
Al 500
402 RI2FX=201 M 354,000 240,000 114,000
= 177,000
Al 177,000
02 QIZEHEASEZ (01X S) 354,000 240,000 114,000
OJIZF 2ttt e M2 A4Sk TS AY
100,000,000& *1&H X 100,000
= 50,000
Al 50,000
OLI UES ZIIE= ANE
30,000,000& = 1EHX 30,000
= 15,000
Al 15,000
ORJls 20 2235 & s 2edis A
A 30,000,000& =1EH X 30,000
= 15,000
Al 15,000
OAHIESE 2SS HAxd Al
194,000,000& *1&H X 194,000
= 97,000
Al 97,000
XSS X2 YRS () (HE) 226,000 140,000 86,000
< 113,000
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ool AR SRY CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 113,000
402 SI2FAHE0| & 226,000 140,000 86,000
&< 113,000
Al 113,000
02 CIZEXIEAIS B X (0| XM THL) 226,000 140,000 86,000
OAMEDNE MEisIF ADEE DAY
50,000,000 x1EHX] 50,000
= 25,000
Al 25,000
OL)| AEEZ SIEMH Jl=AlE
18,000,000 *2JH £ 36,000
& 18,000
Al 18,000
Ol NYEESIES FH3 /s MMUHX =
S AlH 120,000,000 = 1EHX] 120,000
& 60,000
Al 60,000
OJIZHs s s2dls 22
20,000,000 x1EHX] 20,000
& 10,000
Al 10,000
SMEALASIAES 9,360 9,000 360
= 9,360
202 04| 3,120 3,000 120
= 3,120
01 2L HI 3,120 3,000 120
OsdE ASETAE4AE O]
20,000 *23| *39= Dt 1,560
= 1,560
OZZIEH A4 oyl
20,000 x23| *39= D} 1,560
= 1,560
301 et A= 6,240 6,000 240
= 6,240
12 JIEtE2 &= 6,240 6,000 240
OsdtE ASEXAF 24 s AHAI 2
40,000 *23| *39= D} 3,120
= 3,120
OZLIEH ZANEBA sIE Atdl 2
40,0003 *23| *39= It 3,120
= 3,120
AEXNZS 20 |=AHY 62,400 155,000 A 92,600
= 23,400
Al 39,000
402 RI2H X201 M 62,400 155,000 A 92,600
= 23,400
Al 39,000
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ool AR SRY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 62,400 155,000 A 92,600
OUsE2d S8 24Uy AlY
48,000,000& =10 2= «80% 38,400
< 14,400
Al 24,000
ONEE 2 TIIQ MAAY
30,000,000& =1+ XI «80% 24,000
= 9,000
Al 15,000
ADEYSNHAH PE(2X) 50,000 0 50,000
2 25,000
Al 25,000
207 A O & H] 30,000 0 30,000
= 15,000
Al 15,000
03 Al & 11 HI 30,000 0 30,000

OANESY HAEHE DS AAYEX (AN
ET HOIE &2 MAHEX)
5

,000,0002! *67H £ 30,000
= 15,000
Al 15,000

405 XtHarF S| 20,000 0 20,000
= 10,000
Al 10,000

01 Mtarg 225 S 20,000 0 20,000

OADESY HAEHE DEat AYEX (B2
EHC DS FHEY, ASS4 HNTY)

4,000,000% *55 20,000
=2 10,000
Al 10,000

ELYHE ZSYH 10,000 45,000 35,000
= 3,000
Al 7,000

402 BI2F X201 W 10,000 45,000 35,000
< 3,000
Al 7,000

02 B2 A 2R (0IHTHS) 10,000 45,000 35,000

OSYLHE LM &E 23

10,000,0008! *17H 2 10,000
< 3,000
Al 7,000

YEsUO YsHH PP =M AEY MY 9,000 5,800 3,200
=2 4,500
Al 4,500

201 Yute | 1,000 1,000 0
2 500
Al 500




AN seIIsHE
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ool AR SRY CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 1,000 1,000 0
OFU=sge FGAct 2AALE DHHE Y
29 s 250,000& x4Z& 1,000
= 500
Al 500
202 Oddl 1,000 0 1,000
= 500
Al 500
01 = LH 4 1 1,000 0 1,000
OBUso FENE 24 A4 ofyl
20,000& x5 103 1,000
= 500
Al 500
301 LEXZ 7,000 4,800 2,200
= 3,500
Al 3,500
12 JIEBHE4 S 7,000 4,800 2,200
OBES0 FHXEG SHALE ALY
350,000& x10E *23| 7,000
= 3,500
Al 3,500
S ==s4 902,768 788,826 113,942
= 36,500
< 60,000
Al 806,268
MIISs&ZSANEE 79,113 77,260 1,853
101 @124 dl 30,513 29,660 853
04 JIZHHZ2Z2XNESE S+ 30,513 29,660 853
O&ASAH WA 4t J12HM 14| 30,513
== 68,7203 x2H x183 25,152
resgdsE 68,7203 x2H x39 5,361
201 LB-2E | 20,100 19,100 1,000
01 At 22l 1,000 0 1,000
OMNZI AdSAEE 29 100,000& 108 1,000
02 =224l 19,100 19,100 0
OMZI MAD|EE Ald22] ¥ SAUL(RAY
dE =LA M2 ME D) 12,000
1,000,000 1270 &
O&Z NEZEZE, 8% HUIRKN B
500,000& 108 5,000
OHEANEE 28 REFY(ER)
1,400& x5& *3002 & 2,100
206 M= Hl 28,500 28,500 0
01 =8l 28,500 28,500 0
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= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
D4z NBZE 29 U 22(2=017 %
W, s 8%) 750,000& x10& 7,500
ONRCHH MZA M8 4EFY
7,000& x3,000%£ 21,000
ENESN] Rl 2 13,247 10,016 3,231
101 14 dl 8,247 8,016 231
04 JIZHHZ2Z2XNESE S+ 8,247 8,016 231
OXAtHLa 2 el 8,247
=y 68,7203 x 1 120 8,247
206 = Hl 5,000 2,000 3,000
01 MZ 4l 5,000 2,000 3,000
OZHUYE Mo ZAHWY A%PY
400,000& x5& 2,000
OXXHHLT ek IR 2
100,000& 108 1,000
OXHHISR M4 0ptstd 7
500,000& x4 2,000
=g N2 R Mgt #= 248,924 181,060 67,864
101 @14l 13,744 0 13,744
4 D12t ZE2EXRSEES 13,744 0 13,744
OESNZLR BS5 HEEY
68,7203 x20H x10 13,744
201 LBt 3,000 2,000 1,000
01 At 22l 1,000 1,000 0
OMZ A a2 AR 2eld]l 100,000& 105 1,000
02 =24l 2,000 1,000 1,000
O&Jletd 2t el 1,000, 000& 14 1,000
OAgtdEd 22l 1,000, 000& 14 1,000
206 = Hl 3,500 3,500 0
01 =8l 3,500 3,500 0
OMZ A THEH & M&EE SctAE 447
7,000& 5004 3,500
207 A RO H| 69,200 69,200 0
03 Al & 2 HI 69,200 69,200 0
OZMZXt Hiolets HFEIIE P
250,000 8Kl E 2,000
OZSMNZ R Mak AZ W2EXE 22 (& XH/20kg
) 35,000& *1,9204 Xt 67,200
301 LA F 18,480 1,360 17,120
09 HALAHIX &S 3,080 960 2,120
OZSM2ZTt M=ol s 8,000& 110 880
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A sgI=HH
M HEHEXE
ool SAR=SY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFSMNZ X MAitsgol &R
20,000%x110H 2,200
12 JIEtE2 A= 15,400 400 15,000
OFSMN2Z X MAlsHOl N 2ASE
200,000& x23| 400
OFSMN2Z X Matsgol Hei=a K&
15,000,000 = 1Al 15,000
401 Al HIZL 2 0HY| 46,000 10,000 36,000
01 Al&H| 46,000 10,000 36,000
OMZX 33 24 HIY WA
30,000,000 = 14! 30,000
OUZANEE =¥ 28 Z4 % ANd2S
16,000,000& » 1Al 16,000
402 BI2H X 20| M 95,000 95,000 0]
01 SIZEXIEANYEXR (MMM A) 95,000 95,000 0
OFSMN2Z X SHEMAN I XI&AS
70,000,000 = 1&+X] *50% 35,000
OZSMZAH CHEMAL S AN XIS ALY
60,000,000 *1&t X *100% 60,000
o ES=SME T 98,694 76,240 22,454
101 e1214| 18,694 3,340 15,354
04 J|12ZtHIZ22NEES 18,694 3,340 15,354
OduasMes 2= A3 4X ¢ =
H orEd 68,720& x 15 x23| 2,062
O=3SEM ¢ AS24 22| JI2HM2 22X B
= 15,257
ez 68,7203 1 183 12,576
S5 68,720 124 39 2,681
O=230E &H ¥ 88X
68,720 12 x203] 1,375
201 et d| 8,000 8,000 0
01 AP 2t 2] H| 8,000 8,000 0
Ofa=sMas Z2s2Mus Z2UEA S
8,000,000 x13| 8,000
206 M = dl 31,500 31,500 0
01 X2 bl 31,500 31,500 0
OdesMes 23=Mns ey
7,000 *3& x75% x203] 31,500
301 et A =2 15,500 18,400 A 2,900
09 HAIAHIXIE 2 7,500 8,200 AT700
ORdiasMes sdnsg &I X3
20,000& x75H 1,500
ORde2sMes 23E2Mns 481 A&
5,000& *x75%H x 163l 6,000
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FM s
X ZH IS
o M —
gel S

= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 8,000 10,200 A2,200
OR2suEs IAS2MHuE ZA=E
200,000& x2H 203 8,000
401 A& HIZ 201 I 25,000 15,000 10,000
01 A& HI 25,000 15,000 10,000
O=3=2M dAME &X 15,000,000 * 104 & 15,000
O=s24 U s 4
10,000,000 *1J4 2 10,000
e Dy 24 250,439 266,850 A 16,411
101 124 dl 56,489 29,660 26,829
04 D12t Z2XREES 56,489 29,660 26,829
Ozetd M=t JIN2ZZ2X 2= 41,233
2= 68,7203 x2H x248 34,086
A= Ry 68,7203 x2H x52& 7,147
OXY NIMSBHYA BXIEX B4
68,720 x2H 111 15,256
201 Let24E] 23,000 43,940 A 20,940
01 At 22l 8,000 8,900 A 900
O DSt ARES ¥
200,000& x 102 2,000
O D=t E2=2 & WMAME
400,000& x10& 4,000
O0MESHH B 2402
100,000 x5& *43] 2,000
02 2324l 15,000 35,040 220,040
O DIMEHIAA Al EHHI KX HI
600,000 x203| 12,000
O DlMSHILA S (MY Adl,SHH) 3,000
206 M= Hl 149,750 145,250 4,500
01 M= 4l 149,750 145,250 4,500
O DS 78 BHAI 72 500,000& 250 125,000
ODIMSHHSA A8 HE L A%E
900,000& *10& 9,000
ONlMESHY ZEX 7L (521EHE)
350& *45,000% 15,750
301 LEEBA S 1,200 0 1,200
09 HALAMHIXI &3 800 0 800
Obld=E 2= Wus E481% X&
8,000& *50H 23| 800
12 JIEE4 =3 400 0 400
OlME AHE =g s LM
200,000& »23] 400
405 RHoHE S HI 20,000 48,000 A 28,000
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sgJlsdH
ERSONE]
SEXEEE (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 20,000 48,000 A 28,000
O0l¥S BH&EH P& 20,000
&IEHEE 2D 7,000,000 = 1CH 7,000
RESY0IE 7,000,000% = 1CH 7,000
QI 7 HIOIH 3,000,000& =2CH 6,000
S3E=E Jls B2 3,000 50,000 A47,000
301 LEEBAF 3,000 0 3,000
09 SAEHIX RS 3,000 0 3,000
OS3&= dlls 8¥uU= 20,000& x150H 3,000
NG Est=sdI)I=sZ 250X 24,351 22,400 1,951
= 4,000
Al 20,351
101 14 Hl 24,351 22,400 1,951
= 4,000
Al 20,351
03 RIAHAZ 2T E += 24,351 22,400 1,951
OXNYEs sglles 23 &N 24,351
2 (FEsY 28
68,7203 x1H »305 20,960
= 4,000
Al 16,960
S OE &Y 68,720& x15& 1,031
Y EFOHI 400,000& »23] 800
= Al 130,000 1200 & 1,560
NEESSHSIPEL (SeESs)(HE) 120,000 45,000 75,000
< 60,000
Al 60,000
402 RI2HXt20l ™ 120,000 45,000 75,000
< 60,000
Al 60,000
02 22t 2 AL EZ(OI X TH ) 120,000 45,000 75,000
O20IX%t Jts=52 ?Ie AIs2=AE Al
10,000,000& *1JH £ 10,000
< 5,000
Al 5,000
Otslz MASSHE HEHAIE
30,000,000& =1EH X 30,000
< 15,000
Al 15,000
O3l HIEz2E E2 2 T AL MY
40,000,000& =10 2 40,000
< 20,000
Al 20,000
Ostgls == = 22/AE X
40,000,000 = 1H 2 40,000
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AN sg€II=4dH
g dEXE
ool SAR=SY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 20,000
Al 20,000
MIEB AN (FA4H 55,000 60,000 A5,000
= 27,500
Al 27,500
206 M= Hl 20,000 0 20,000
= 10,000
Al 10,000
01 M= 4l 20,000 0 20,000
O=Sglls ds 2 03ZE dad S0 DI
= e+ 20,000,000 =14 2~ 20,000
= 10,000
Al 10,000
402 2I2H X201 M 35,000 60,000 A 25,000
= 17,500
Al 17,500
02 QI EALSEZ (01X TS ) 35,000 60,000 A 25,000
OEZY YS202IY Nl NS 5423
A" 35,000,000& =1EHX 35,000
= 17,500
Al 17,500
Hed=ssdyI=X (53 10,000 0 10,000
= 5,000
Al 5,000
206 M= Hl 10,000 0 10,000
= 5,000
Al 5,000
01 M= 4l 10,000 0 10,000
Oz 2 10,000
AHHY THAL(BEAHINE 5)
20,0002 5004 10,000
= 5,000
Al 5,000
FHs4d=2d 2,792,181 2,780,431 11,750
= 1,099,000
as 210,000
Al 1,483,181
Ol Rel AZSE Mat 294,181 268,431 25,750
101 124 dl 135,931 121,635 14,296
04 DIt Z2XREES 135,931 121,635 14,296
OblRelds AREX JIZANIERE S 135,931
2= 76,5003 x5 x251 96,008
s 76,5003 x5H x522! 19,890
e =] 76,5003 1. 58 x5 x 14 8,033
SRS 3,000,000& *4¢! 12,000
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A sgI=HH

M HEHEXE

Sl =042 Y CERED
- _ _ RE]

S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
201 Bt 77,000 76,796 204
01 AP 22| H| 3,000 8,796 N5,796

O0j3Re A7 dstL2y| 100,000 303 3,000
02 2324 74,000 68,000 6,000
Oo03e dxxs29 dIIR2 50,000
O0|3Re B2ERMA ARES A& &H S XY 24,000
206 M = dl 70,000 70,000 0
01 X2 H| 70,000 70,000 0
Oo|3e oZ2sSIMA 7
350,000 x20= « 100 & 70,000
402 SI2FXHE0| & 8,250 0 8,250
01 BIZtXIE ALY E X (KM TH ) 8,250 0 8,250
OHRFTHY Bl 235 JIXM KX3AS
1,650,000 *107H 2 *50% 8,250
405 XHAHFI S HI 3,000 0 3,000
01 AL 2 Z F S| 3,000 0 3,000
OLZ AN L oM B2 HET)
3,000,000 =1CH 3,000
W=t SAT LA 2,198,000 2,122,000 76,000
= 1,099,000
Al 1,099,000
403 XX SHHS K20 & 2,198,000 2,122,000 76,000
= 1,099,000
Al 1,099,000
02 BI2SHUSXA2ERAEASHI 2,198,000 2,122,000 76,000
OWEHAACHT] XM&AIY
2,198,000,000& « 1Al 2,198,000
= 1,099,000
Al 1,099,000
ANZEO(BE IR0 REEY) 300,000 390,000 A 90,000
= 210,000
Al 90,000
201 Bt 3,000 0 3,000
Fag 2,100
Al 900
01 AP 22| H| 3,000 0 3,000
Oo0lRel YAE S5 £/ 248 S
3,000,000& =14l 3,000
Fag 2,100
Al 900
206 M Hl 15,000 0 15,000
= 10,500
Al 4,500
01 X Z Hl 15,000 0 15,000
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2N
X ZH -
L= B

el

HE -G (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Ode Divel gA0ge =4 daiz
62,500& *40Y 63| 15,000
fag 10,500
Al 4,500
o 2 & H| 130,000 200,000 70,000
hag 91,000
Al 39,000
AE A | 130,000 200,000 70,000
O 4 0P ZQML AR GIRE
3,000,000& *103] 30,000
= 21,000
Al 9,000
O &t 0172 80 UMM A" d2ME
10,000,000& x103] 100,000
= 70,000
Al 30,000
QB8N 2 5,000 0 5,000
hag 3,500
Al 1,500
SHALAIH|I X & 2 4,000 0 4,000
O&Z 0lFe LAY SHNs FIAA
8,000& x500H 4,000
= 2,800
Al 1,200
JEIE &2 1,000 0 1,000
OnlRe A= Qe Alx=E
200,000& *x53] 1,000
= 700
Al 300
oIz2tol & 90,000 30,000 60,000
hag 63,000
Al 27,000
DI2ZFAMAIE E X 90,000 30,000 60,000
O g& 0/3el Mg & =52
10,000, 000& » 14! 10,000
rag 7,000
Al 3,000
O Y& 0lre XNel&3EA S22 N
10,000, 000& * 14! 10,000
rag 7,000
Al 3,000
O 2& 0/3Re =222 ool 243 X
10,000,000& » 14! 10,000
= 7,000
Al 3,000
OdYd =g dils g X
30,000,000 =14 30,000
fag 21,000
Al 9,000
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SN sYIEUH
M HEHEXE
ool =0S42Y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o2 =0g ME N A=
30,000,000 = 14! 30,000
Fag 21,000
Al 9,000
401 AlEHIZL 2 0HY| 57,000 0 57,000
g 39,900
Al 17,100
01 Al 57,000 0 57,000
O0IR2l AZARAL U AlAE 25
57,000,000 = 14! 57,000
Fag 39,900
Al 17,100
S A AH| 204,060 189, 620 14,440
AU (sdJ|IsHH) 204,060 189,620 14,440
=223 (s Il =4 E 204,060 189,620 14,440
201 et d| 78,800 64,400 14,400
01 AR 22l ] 13,800 14,400 A 600
OoOgaazZlx¢ 60,000& x2H *115L 13,800
02 2=2=24%4| 65,000 50,000 15,000
Osglls 2222 Al Al 65,000
202 044l 110,000 110,000 0
01 2L Y| 59,000 59,000 0]
Os&EXE g2 59,000
02 NI 51,000 51,000 0
O=0l A A E 37,800
Ord & 300,000& *3H 1201 & 10,800
olgd 250,000 x 1« 1201 & 3,000
2S5 200,000&*1H + 1201 & 2,400
JElSH S 150,000 x 12 x 1201 & 21,600
O SIHYMHAIE A HAHY| 13,200
S= A 250,000 x2H 1200 & 6,000
JEt SHS 150, 000& x4 1204 & 7,200
203 €2 F=&d| 15,260 15,220 40
01 J| 2 2SH L R2=XH| 3,300 3,300 0]
OsgllsdygA% 3,300
02 AAAJMAAH 2= XY 2,480 2,440 40
OFRIAtE 2F=&8H| 2,480
04 EANSIE LR F=XH| 9,480 9,480 0
ORI E 28| 9,480
sEXE N 5,280
=R ONEEIN 4,200
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